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(a) FERAI2ED LR WEIRIT
(b) WIS ¢(2) == (1/V2r) e = /2 TH B 5
(© fx(z):= [ fxy(z,y)dy LEFRSND fx()
(d) ML BHEREBOMOTHiERkDBZ b
2. (30 4) Z~N(0,1), X:=2Z-3¢35.
(a) FEHEFHIA R R LT Pri—1 < Z < 2] #RDZ XL,
D) X XD XS BATITHED D ?
(o) EEHETEMAHEER LT Prj0 < X < 2] # kDA,
3. (50 £ 2 JOEHEERA Y ML (X, V) 3L R ORI .
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(b)) XY OFF e iz 22k,
(©) XY OFH e 5iERD LRIV,

(d) X &Y o5i e HBREE KD X 0.
(e) 2X — Y O e R X0,
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Z~N(0,1) &b

Pr[-1< Z <2 =Pr[Z <2 - Pr[Z < —1]
=(1-Pr[Z>2)-Pr[Z>1]

=1-Q(2) - Q)
=1—.022750 — .15866
= .81859

o Pr[Z <2]—Pr[Z < 1] T2, Pi[Z > —1] - Pr[Z > 2] b 7.
o 1% 1 ZHA HWERIZ 0 5. MUTFRKE.

E(X) = E(2Z — 3)
=2E(Z) -3
=-3

var(X) = var(2Z — 3)
= 4var(2)
=4

E M OMIHEBUSER TR DT X ~ N(—3,4).
o T4, HEA S, ERISE 2 5

X ~N(-3,4) &)
o ]0-(3) X -—(=3) _2-(=3)
Pr[O<X§2]—Pr_ 5 < 5 < 5
Pr_2<Z§Z}
[ 5
=Pr ZSZ}—Pr[Z<]
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— Q(15) - Q(2.5)
=.066807 — .0062097
= .0605973

o Pr[3/2 < Z <5/2] T2 .



o Pr[Z <5/2] —Pr[Z <3/2] T4 /K. Pr[Z >3/2] —Pr[Z > 5/2] HTI.
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0 with pr. 4/7
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var(X) = E (X?) — B(X)?
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o IR 2 5, THES 3 AL
o THIDFIEANXTE 1 5.
(©) XY o1k
Xy — 0 with pr. 5/7
1 with pr. 2/7
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o V5 R, TS AL
o THIDFRERKT 2 5.
(d) Houx

cov(X,Y) = E(XY) — E(X)E(Y)
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corr(X,Y) = cov(X, V)
var(X)y/var(Y)
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(e)
E(Q2X - Y) = 2E(X) — E(Y)
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var(2X —Y) =4var(X) —4cov(X,Y) + var(Y)
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o 35 K, STHLS AL
e E2X —Y)=2E(X) - E(Y) T2 A.
e var(2X — Y) = 4var(X) —4cov(X,Y) + var(Y) T 2 i.

() 2X - Y o7&

—1  with pr. 2/7
with pr. 2/7
with pr. 1/7

2 with pr. 2/7

2X -Y =
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